Math 203 Quiz 5A
September 29, 2015

Name: A N Q\J\/ € QS

Instructions: No calculators! Answer all problems in the space provided!

1. Give the formula for the equation of the plane and the meaning of the symbols used: L
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2. let7(t) = < x(t), y(t) >. What is:
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3. Let?(t) = (tef,— n(t)—S) (a) What is the domain of 7#(£)? __\ 0, 2> U (Q’/ = :)
o € - L
(b) Computer(ﬂ % qt., + & y (t-V)*, +
+ s e o o R
(c) Compute | 7(t) dt = <’f ef-e, nlt-2l, €EMt- 6t 74+ C
s & '
(d) Compute thm-" T(t) = < e e il @ >
—e / /
; ; : o Sy S = _,]_“>.-.L—-/rwﬁ =T
4. Find the equation of the tangent line to #(t) above at (e, —1,—5): %Y, & > = £€,71;=5 & T4, /

5. Find an equation for the plane that passes through (2,3, —1) that contains the line 7(t) =< 3,—-1,0 > +t < 5,-1,1 >
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6. Find the equation of the line through (1,2,3) that is orthogonal to the plane 2x — 3y + 5z =5
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7. Find the point of intersection of the linex =1+ 3t,y = —2t,z=1+tand the planex —y+z=6: | ’3 T )
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8. Give the formula for the unit tangent vector of a function 7(t): L &% | F1({)]

9. Sketch the graph of the given function:
(a) f(xry) = 16 — 4x — 8y (b) £ Cx, y)—4—x
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1. Find lim ——= - .
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2. Define “f(x,y) is continuous at (a, b)” using an equation: />4 (%,1)
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